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MAT 140, Fall 2015 — D. Ivansié Covers: 1.5, 1.6 Show all your work!

Solve the inequalities. Write your solution in interval notation.
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3. (6pts) Find the domain of the function f(z) = ;—;j—;—l (in interval notation).
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4. (l4pts) You have $20,000 to invest and can split this money between an investment
bringing 5% interest, and one bringing 6.5% interest. What is the least you need to invest
at 6.5% interest in order to meet a goal of annual interest of at least 31,1007
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5. (14pts) Max rows his boat at 6mph in still water. One day he takes a round-trip on a

river, taking 2 hours to row downstream, and then 3 hours to row back upstream. What is
the speed of the river? How far did Max travel in one direction?
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6. (14pts) How many liters of pure water must be mixed with 4 liters of a 20% solution of
sulphuric acid in order to get a 13% solution of sulphuric acid?
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